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@ () v ye7 A 8, 9 7@ fae afe & Fr il |

Note : Question No. I is compulsory, answer any FIVE questions from the remaining.

(ii) TRl 7T & G} T %) AR T G 5 Fifrd |

Solve all parts of a question consecutively together.
(iii) YR F7 F 79 Y8 & I Fd |
Start each question on fresh page.
(iv) 2 T 3 87 ) IR S e € A E |
Only English version is valid in case of difference in both the languages.
1. () e da o afaia i |
Define Power System.
(i) H=OT T H A a3 394 fafen |
Write uses of line supports in transmission system.
(i) et @ T i f 6t T @ FAATT |
Explain sag and span with the help of diagram.
(iv) fror a1 Y gervq STEvEeRaTy, (T |
Write basic requirements of a distribution system.
(v) Rrdufda i gemrd yftrra Hfee a7 $i fadard ferfa |

Write advantages of underground cable system as compared to overhead system. (2X5)

(10f4) P.T.O.
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fe am < an vgfy 9 ey uwr d ar vgfa 6 g 9fe F A F AER W
Hife |

Compare D.C. 2-wire and D.C. 3-wire system on the basis of copper volume.

T feF G aR 93 BISt 250 Fiee W U Fgd un Y gwend w @ | i g
Jieear ®I 200 V F femn @ @ g99 R R =rereh e # wfawa s=a e
Hiforg |

In a D.C. 2-wire system a feeder is working on 250 V supplying a constant load.

If supply voltage is made 200 V then calculate percentage saving in conductor
material for same load. - (6+6)

TG FaTereh! i favkerar & fbedl I wRoT i gugs |

Explain any four reasons for failure of line insulators.

T 33 Fop a1, R =t @A & fF 5618 areft Faret it Wit R | 3 Fas
7 3 4 % nen aiitan @ TRF FETE I W-aTian $T FG9E 0.2 R 9§
Hifse

In a 33 kV overhead transmission line, there are 3 units in the string of insulators.

If the ratio of capacitance between each insulator pin & earth and self-
capacitance of each insulator is 0.2.

Calculate :
(a) T pEITeTh! G e faator
Voltage distribution over three insulators
(b) I gEa
String efficiency (6+6)

HEqq H=01 @184 8 T-ada & A, B, C, D Ur=a i 701 $HIf |

Calculate A, B, C, D parameter of a medium transmission line using T-method.

T Rt w1gd % o € wwae W g @ni & o gl 300 e # | afg sifm
wftee 5000 fo6.am. wftr =t anft. 2, =1ers 1 3gvEy Fe Sake 1 @ 4t =T
1 WR 0.65 To6.711 wf e, amg &1 gqama 1 fs.am. wft diex, o wm 0.35 fop.am. wfa
e 3 R T 2.666 &) At Gt 3 W B o Fifvg |

A overhead line has a span of 300 m supported at same level. If breaking stress
5000 kg/cm?, conductor cross-section area 1 cm2, weight of conductor 0.65
kg/m, wind pressure 1 kg/m, ice loading 0.35 kg/m and factor of safety is 2.666
then calculate value of sag. (6+6)
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5. () s fam o werar @ e, faaw 1 afda 9= = awemse |
/ Explain feeder, distributor and service mains with the help of a neat diagram.
(i) &S M Hiver Y wTa Bl wWes i & gEEa § auwnEe |
Explain construction of High Tension Cable with the help of neat diagram.  (6+6)

6. (i) i Ffee faem &t foreht ue faftr o1 avfr Hifdm |
Describe any one method of laying underground cable.
(i) e fg am fe.m. faas AB, 500 et s &, St PR wifa R
AR (drex H) 100 250 400
YR (Tefte &) 50 100 50

iyeh farg A W Sieean 400 Siee a1 B W deedn 430 diee R | e Ter B B
wferiy 0.02 3w wfd 100 et 2 9t A Rt o fergga wma <t o hifve | ;

A two wire DC distributor AB, 500 metre long is loaded as follows :
Distance from A (in metre) | 100 | 250 | 400
Load (in Ampere) SO 10050

The feeding point A is maintained at 400 V and that of B at 430 V. 1f conductor
has a total resistance of 0.02 ohm per 100 metre then calculate current at the
end A. (6+6)

7. () woarad! aw faates ® dteear ura 6 moET fem ger 6w 8, Tesse |
Explain how voltage drop calculation is carried out in AC distributor.
(i) =fep O T @ @l 5 HE e e S R 7 e fum o wrmar @ aneme |

How poles are erected by Derrick Pole method. Explain with the help of neat
diagram.

(6+6)
8. o w wférw feueft foafgw
Write short note on the following :
() =3 dieear Al 1 Ed
Survey of HT lines
(i) Sy
Ferranti effect (6x2)




